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COTA plots and splits are written as turns +/- spaces @/> race best split

()

2nd/3rd best pts

3 laps; F4 S o acc o ss w+s| aSpd top tests| c7| §1 §2 §3 lap1 §1 §2 §3 lap2| §1 §2 lap 3| race
2014 £ £ dec g w bid| aGap acc chance| turn| turn turn turn turn  turn turn turn  turn §3 trn|season
driver, team e e top S skill bld slips dec pass| split| split split split wleft] split split split wleft| split split split| best

1.5
11.5

Michael P spd 40 20 60 1098 00 3 P7 P7 P5 P6 17+8 P6 P5 P3 IV 16+2 | 8.0
Purple-Silver ~ w+s 40 24 5 -5312/1 3+1 5+4 12+4 17+5 20+3 26+0 31+2 35+5 41+1 47+4 JEXI
p/gap 160 9+1 5 9/1 3+4 5+7 T7+0 17 4 443 8.0

Chris B spd 60 20 108.3 7/0 P11 P11 P9 P7 17+8 P4 P3 P7 151 P5 P4 [REEEN 5.5
Red-Silver W+s 60 24 -8.1 10/1 4+1 6+3 12+2 17+4 20+5 26+2 32+3 36+5 42+2 48+4 B
p/gap 160 6+0 1 8/ AR 6-1 5+2 K 6+1 5 442 6+2 5.5

Joakim F spd 60 100 104.9 16/1 P3 P3 P2 P3 P3 P4 P5 16+0 P5 P5 17+1 4.0
Green-Silver ~ w+s 60 21 5.0 9/0 2+0 4+3 10+1 16+4 19+2 26+1 32+4 35+0 42+1 49+5 4.0
p/gap 140 6+0 5 6/2 6+3 11 Rl 71 6+3 5 [FEEN 7+4 40
spd 60 100 105.3 5/0 P1 P1 P1 P1 P1 P1 P2 16+3 P2 P3 181 3.0

Black-Silver  w+s 40 18 -0.6 11/2 2+1 445 10+3 15+2 19+4 25+1 31+5 34+3 42+4 49+4 3.0
p/gap 160 9+1 8/7 51 6  4+2 6+4 3 8+1 7+0 3.0

3-2

Andrew L spd 60 20 4+1/103.6 4/0 1 P4 (P6 P7 P11 18+4| P10 P10 P9 16+0f P9 P9 16+3| 1.5
Silver-Silver W+Ss 40 24 4526 -13.6 8/0 3+2 [ 5+5 12+3 18+3 22+5 28+1 34+3 38+5 45+1 50+6| 1.5
— p/gap 160 9+1 2 2 4/3 3+3 (6+6 72 6+1 13 | 4+2 6-4 6+2 5 |4+2 74 | 5+5 | 1.5
Dave B spd 40 60 1+0/101.6 3/0 7 P6 | PS5 P4 P4 17+8| P5 P7 P4 144 P4 P8 191 1
Teal-Black w+s 40 18 1.0 69 86 5 |3+71[5+5 11+3 17+5 20+4 26+0 31+1 35+2 43+1 50+0

..... — p/gap 160 15+3 3 10/4 3+4 [5+8 6-2 6+2 9 31 .64 5+1 2 |4+1 81 71| 1.0
Scott S spd 120 80 40 0+0(101.5 0/0 P9 (P8 P8 P9 17+6| P9 P9 P10 17+0( P10 P10 18+2( 0.5
Silver-Black W+s 40 0023 -14.313/0 2 [ 4+4 |5+2 12+3 17+1 21+3 28+1 34+1 38+2 46+2 52+3| 0.5
— p/gap 180 12+2 2 2 81 4+9 | 5+7 71 5-2 8 |4+2 72 6+0 2 |4+1 8+0 ©6+1 | 0.5
Ron C spd 60 60 3+0| 98.2 2/0 2 P8 | P9 P10 P10 18+7| P11 P11 P11 17-3| P11 0.0
Teal-Teal w+s 60 18 3|-175 2/0 4 |[3+0([5+2 12+0 18+5 22+5 29+3 35+2 40+1 0.0
‘‘‘‘‘‘ = p/gap 160 9+1 2 5/3 3+2 [5+4 72 645 6 | 4+0 7-2 6-1 0 | 51 0.0




